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SR BHNA BOIFY N
42,000,00024 %174 42,000
= 21,000
Al 21,000
NegHa=2 JIWEs 33,000,008 %50H 2 165,000
= 82,500
Al 82,500
SEALZA0Z §4 35,000,008 %102 35,000
= 17,500
Al 17,500
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M s€lis4dH

HH: SANRRSHUISED(SHHLSL/5Y - 5&)
S B SBIEOE L
SN - EH . S(3) - MRAY - BES Ofl &k 04 e HRz2
SEY BHAT RUSREX 2 79,000
SXEH ZHX A= 3,000,000& *75 21,000
FaNe B2, INTY IHIYR
12,000,000& »32 36,000
FNRWEN 4%, AENY Pt
10,000, 000& 14 10,000
SMRMH HFEHY AS 8003 +12,500kg 10,000
2R HZTLS N
2,500% *400H 25 2,000
Jlsgs Nk 5,900
CNEXRZR(2IER) 1,000& *900F *35 2,700
CAEAY HE 100,000& 205 2,000
B2sQ AMAMY BIIE Y HAX A
ek 600,000 »2CH 1,200
ROPIs SYUEE ZEMUIA IR 29
300, 0002 <25 600
H goils HE 223 100,000& 105 1,000
S0 2342l 29 12,580
CAEE 100,000& 108 1,000
23 30, 000& *7& *404 8,400
33 50,0002 505 2,500
w2 =4 85,000 #2243 680
SIH WESStd AEIH 1,000& *4,500% 4,500
02 323l 4,752 2,000 2,752
SO 2=EHE FANES 146,000 «128 1,752
DSE S |NBSH 50,0008 +20% 3,000
03 A2 HI 30,000 0 30,000
LS HAT SHBRUR 2 (HSAHR
HE S22AIHA) 30,000, 0002 *14] 30,000
206 M=l 121,000 49,500 71,500
01 M=Hl 121,000 49,500 71,500
MNESEERA 22 500,000& 103 5,000
LS HAT SHBBREX 29 92,500
&&= SN 3,000,000 55 15,000
SlHl, B2 S viZeS W2
25,000,000& 35 75,000
F2HAHANEE 224 MHE  250,0008 105 2,500
SESA SAAE 1,500, 0003 *3H 2 4,500
AEY SUY £ DB 4 BUA
5,000,000& »1J4 2 5,000
SNI18E VY=Y A
5,000,000& *1JH £ 5,000
Jlsd E2cl MHAIE 5,000,000& »1J4 2 5,000
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M ZNSERA SRS (SAHL /S - B5E)
SE = I (el @)
SMN-HHM .. AHA(SH) - MRAY - BES O AF K dd = Hlw &2
- o= T - = oS = =5 0:”/&,% Lsa
X0l =l SEAHlA X3 29
100,000& *15& 1,500
OIMEMAH 22 AMEAY 2,500,000 14 A 2,500
301 LetEA3 3,360 3,360 0
10 HAHA 3,360 3,360 0
s 7,000& 1509 »23| 2,100
=PI 7,000 x180H 1,260
307 2I2t0l™ 10,000 0 10,000
02 gzt 10,000 0 10,000
=4 OtSHIHA S MASZ AlY
0,000,000 *1JH 2 10,000
401 AlEHIZ2OHb| 100,000 0 100,000
01 Al&H| 100,000 0 100,000
TEd RE0M2 s =4 100,000
402 212t X201 19,500 9,500 10,000
01 aI2tX}=28x 19,500 9,500 10,000
JISHSIHE OISUHMATY MABZ A
10,000, 000& *1JH 2~ 10,000
H HolsS M d=)|=23 AY
3,500,000 *2JH £~ 7,000
SA FZ2e| A" 2,500,000 =1 £ 2,500
405 Kot S| 5,000 57,500 A52,500
01 &L 2EFHSHI 5,000 57,500 252,500
ASESHE 2L (RXAU)
5,000,000 * 14 5,000
e ssMI =X (2E) 426,000 46,000 380,000
= 213,000
Al 213,000
201 LEt23| 23,000 8,000 15,000
= 11,500
Al 11,500
01 AbR2t2lH| 23,000 8,000 15,000
EQHEL 29 3,000
= 1,500
Al 1,500
Ngogs XA 20,000
= 10,000
Al 10,000
206 M= Hl 58,000 24,500 33,500
= 29,000
Al 29,000
01 =4l 58,000 24,500 33,500
EXHTY 29 6,000
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405 AH&HESHI 330,000 7,000 323,000

= 165,000
Al 165,000

01 XhH&tsd F =4I 330,000 7,000 323,000

29 15,000
SW/Vis BZZ T 14,000,000 1 CH 14,000
2 7,000
Al 7,000
CWRD 1,000,000 *1CH 1,000
500
500
1,000,000 *2LH 2,000
1,000
1,000
130,000
2 65,000
Al 65,000
183,000

100,000, 0002 * 14! 100,000
50,000
50,000
“DNA =D 30,000, 0002 14! 30,000
15,000
15,000
25,000,0002 14! 25,000
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2 7,500
Al 7,500
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el

= o)l 2 HIE
=olE 2012

sZJ=X&

=
S52

I=283(

o

OoF
S

>
Ol

R

_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Abod e HlnE2

e SIEIEION 6,000 18,500 A 12,500
= 6,000

308 XHXIEHH SO 6,000 6,000 0
= 6,000

01 HXSHBAEES 6,000 6,000 0
WY SHHI|SX 6,000
= 6,000

HHESSHTEISXNLHHDE(NE 15,700 0 15,700
= 7,850
Al 7,850

101 Q1 24H| 7,000 0 7,000
= 3,500
Al 3,500

04 JIZH2ERNSES 7,000 0 7,000
B S CEE Mo 29 7,000
= 3,500
Al 3,500

201 Lete gyl 5,450 0 5,450
= 2,725
Al 2,725

01 At 22l 5,450 0 5,450
B S HRE Ao 2 5,000
= 2,500
Al 2,500
2EE 29 450
= 225
Al 225

206 T2l 3,250 0 3,250
= 1,625
Al 1,625

01 MEH 3,250 0 3,250
B oEHE HzE o 2,800
= 1,400
Al 1,400
2L 29 450
= 225
Al 225

SHERAML (HE) 11,200 35,500 124,300
= 5,600
Al 5,600

201 Lere gl 920 1,150 £230
= 460
Al 460

01 At el 920 1,150 A230
HHOIS J2LS 23,0008 40 920




M s€lis4dH

HH: SANRRSHUISED(SHHLSL/5Y - 5&)
S =1 PIEpN] (9l @2
_ _ _ Muo
SN - EH . S(3) - MRAY - BES Ofl &k 04 il b o HRz2
= 460
Al 460
301 Let2a= 280 350 AT0
2 140
Al 140
10 ALAHIE &= 280 350 AT0
SE0IE Jlss 7,000& «40H 280
= 140
A 140
405 Xt&bE SHI 10,000 34,000 A24,000
2 5,000
Al 5,000
01 MR ESF=H 10,000 34,000 A24,000
ElHA4ZI|(EAHAL) 10,000,000& *1CH 10,000
= 5,000
Al 5,000
SIHEHAL (XH) 600 750 A 150
= 600
308 NHXISHHMSOIE 600 750 A 150
= 600
01 MXEMISELS 600 750 A 150
SINEBAY 600
3 600
SEHXIZAE 108,280 109,260 A1,000
= 5,000
Al 103,280
201 LEH2HH| 13,180 10,180 3,000
01 At 22ibl 4,900 4,900 0
AEERF J=lE 4,900
ASHS 2B ¥ NENE
900 & *750 R *4 5 2,700
AMEAIE HE 100,000& *105 1,000
ASHS o@ L A XY
600,000 »2CH 1,200
02 23223l 8,280 5,280 3,000
AMY S0P ALY X2
440,000 x12& 5,280
ABAEE UL SNBL
3,000,0002 +14! 3,000
206 M=l 53,000 57,000 A4,000
01 M=Hl 53,000 57,000 A4,000
ASANEE 2 2,500,000& 25 5,000
+553 22U )z22 AY
10,000, 000& 190 2~ 10,000
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I SN20dRAYILRD(SHHY /S - 5E)

gel sYl=NE (ctel: &
_ _ _ N E
SN B SRA(SIH) - MBAY - BAS 0l &k 24 o HlnE2
SRS ABY WUAY
3,000, 000 *2H 2~ 6,000
NEEsi=E S GolsgH Ald
4,000,000& * 104 2 4,000
ANE20 &I Huls 2822 AldY
10,000, 0003 *27H 2 20,000
MEE NASHS 25 AlE
8,000, 000& *1JH A& 8,000
301 Ypt8azg 2,100 2,100 0
10 EALAHIE A= 2,100 2,100 0
ASEF JIEXE 7,000& *300 2,100
402 212H X =01 & 40,000 40,000 0
= 5,000
Al 35,000
01 BIZPGEEX 40,000 40,000 0
ANEJN dUXES AHsHs S32el Alg
30,000,000& * 170 £ 30,000
KNSEs AIEAS (AE20 WX 22Dl=
AlE) 10,000,000 =170 2 10,000
= 5,000
Al 5,000
MI=EZ A (A H) 360,000 510,000 A 150,000
= 180,000
Al 180,000
201 et 13,450 7,400 6,050
= 6,725
Al 6,725
01 AtS 22l 13,450 7,400 6,050
SEANsS Al 8,850
= 4,425
Al 4,425
TSs HMEs 243 A" 4,600
= 2,300
Al 2,300
206 M=l 18,750 12,600 6,150
= 9,375
Al 9,375
01 M=H| 18,750 12,600 6,150
TAsY AE 13,350
= 6,675
Al 6,675
TSsu Ags 43 AY 5,400
= 2,700
Al 2,700
301 EtE& = 2,800 0 2,800
= 1,400
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MY SNSARHUILRD (WL SM/ 5L - 5E)
Sl mIIEXR (e @
_ _ _ Muo
S EHB .S (BH) - HRAIY - B2 Of) A o4 e HDZS2
A 1,400
10 BAAHIE A2 2,800 0 2,800
SASY A 2,800
= 1,400
Al 1,400
307 2120l H 105,000 30,000 75,000
= 52,500
Al 52,500
02 SIAAMBE 105,000 30,000 75,000
HDEY WUNTRHME A (E0IE) 70,000
= 35,000
Al 35,000
SAsY A 5,000, 0002 *57 4 25,000
= 2,500
Al 12,500
ZSstn ANSTDS Al
5,000, 0002 *22 4 10,000
= 5,000
Al 5,000
402 Q12X 0|H 220,000 460,000 240,000
=2 110,000
Al 110,000
01 QIARERE 220,000 460,000 240,000
ANERI0) EXI=Z THIIX AlE
25,000, 000! *2JH 2 50,000
=2 25,000
Al 25,000
IISHE U ANETA M2ATSS HIIX
50,000, 000! *2JH 2 100,000
= 50,000
Al 50,000
HDED PNT2ME A (E0IE) 30,000
=2 15,000
Al 15,000
NS RES ALTL ESR2IAIY
40,000,00024 *17H A 40,000
= 20,000
Al 20,000
MRS AI (NIR) 170,000 180,000 £10,000
=2 170,000
403 XHXISHAIS XH2 0/ H 170,000 130,000 40,000
= 170,000
01 RXSAX=SE 170,000 130,000 40,000
Al E B2 AN 170,000
= 170,000
SO Y SHBABHHE) 3,000 63,000 60,000
=2 1,500
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SN
X XH .
S Tt

el

= o)l 2 HIE
=olE 2012

sZJ=X&

J=:

]
Ol
U
ob
2
+
Pl
o
114
I
P

S FB SR (E) - NRAY - Be S Lo e 2
Al 5,000
101 Q1A 10,000 10,000 0
= 5,000
Al 5,000
04 JIAHZ2NHESE= 10,000 10,000 0
ANSEES l= L3 X2 10,000
= 5,000
Al 5,000
NEsHIl= (X&) 5,000 23,400 A 18,400
= 5,000
308 XXl EHX 5,000 5,000 0
= 5,000
01 XHXIE 2X= 5,000 5,000 0
AEsgll=82s X3 5,000
= 5,000
HE2HZH (=LII=HE)(JIEH/IIE ,910,993 1,817,841 93,152
=234 , 789,779 1,694,737 95,042
eI =2dl , 789,779 1,694,737 95,042
101 el 24| , 724,499 1,629,457 95,042
01 2= ,617,302 1,528,697 88,605
= ,076,091
A &2 4,139,200 x3&H x12& %1.035 154,227
EPNEE=V, 2,590, 1003 »25FH x12& +1.035 804,227
= 2,529,600 x3H x 128 %1.035 94,253
9= 1,882,700 »1&8 128 %1.035 23,384
da2=g ==3Y% 1,076,091,000&*1/12 89,675
ANz2te22g 130,822
A &2 10,3303 #42A1 2H+2H « 128 %1.035 10,778
K& At 105,275
2122014
8,433& +42 Al 2++8H 123 +1.035 35,192
-205=0I6t
7,903 #42 A1 2Hx 17 B« 122 %1.035 70,083
= 7, 2523 #4224 +3H 123 +1.035 11,349
- 9= 6,555 42 A1 2+ 1H 123 +1.035 3,420
IEY 29,760
HH < Kt 40,000 x32& 122 15,360
A E - HIS 20,0003 x60H 12 14,400
AHSHHI X =E 9,510
=5t 51,9903 x4 43 832
nsstu 433,880 x5 «43] 8,678
H2=EI3 33,840
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e EE=PIEY=
B SNSRI (SLIISHE)(OIEHIIE)
EHel: ol oyl EERE
SN - B S(3) - HRAY - BAS 0f &k e HlmE 2
= 30,000
-20E 01 &t 100,000& x14H x12& 16,800
-158~20= 0] 8t 80,000 x3H 122 2,880
~10%~ 1541 01 8 60,0002 112§ x12 7,920
-5E~10= 0/ 2+ 50,0003 «4ZH»12& 2,400
FEIIHE 3.840
-258 014t 30,000 x9H 122 3,240
-208~25 0] 8t 10,000& x5 » 12 600
AE22+E 1,680
25 50,0002 2% » 12 1,200
=3 40,0003 «12 128 480
Hesfa+g 41,879,200 *4. 1%+ 122 20,605
DESREE 50,000 x2H *12& 1,200
delgesg 4,139,200 x9%x 122 4,471
S+egnag 33,840
Jlsdesdg 27,120
=T, 60,0003 «3Z »12& 2,160
==V} 50,0003 x25H » 122 15,000
b2 (D1 AL 50,000 x2E *12& 1,200
-Jh&EZ(O1AH) 30,0002 x19E 122 6,840
SORAFZ(ARIIA) 20,0008 %12+ 122 240
-Jls7E(2d) 30,0003 «12 122 360
-Jls8s(=s8 - 28)  20,000&+38 #1238 720
“JHE (L2 E) 10,000& x 1 »12E 120
SJha (L2 ) 20,000 x2H *12& 480
S-e-S224Y 70,0008 8% +128 6.720
o ALt 130,000 +3224 128 49,920
HE S0 1,076,091, 000& *1/12+60%*23] 107,610
A2 &I 1,076,091, 0002 «86%+11/360 28,278
02 JIetR 2= 32,900 30,172 2,728
23019 "01'3)
22,991,000 +(22,991,0002 *70%) *3. 5% 23,555
NEELES
7,930 *42A1 2t 1B+ 12 %1.035 4,137
pJE N 1,200
BH <= Xt 40,000 x1E*12& 480
= =S 20,0002 +32 12 720
NEETIEESS 1,944
=En) 51,9902! 12§ x43] 208
nsstu 433,880 » 18 #43| 1,736
MG A 130,000& 18« 12& 1,560
HOLE &I 23,554,280 *70%+*11/360 504
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SN SYIIEHE
D3 WHSAPH (SLIISHE)(IEIIE)
el QS| EEREE)
SN EB -GS - MBAY - BES 0 & 24 e HRE2
03 RIIHA2ERE 4 74,297 70,588 3,709
=3 42,096
& Ar2rel 1,228,2302! 128 14,739
2223 1,168,680 * 128 14,025
E22F 1,110,980 * 128 13,332
Jlg4g 52, 174,6802 0.6/ 12 2,609
NEE LR
1,498,6802! /226+ 150+ 14AI 2+ 122 1,672
ELE 40,0002 +3% * 128 1,440
EEE[Nt]
AOBXBIIE 52,174,6808+1.2/12 5.218
P
SAEA 1,400,207 /226+BAI 2432+ 18 2,866
= o4 3 Al | 110, 0002 532 * 128 3,960
IS RS 30,0002 +32 <12 1,080
ik L] 140, 0002 53 * 128 5,040
CHO! = At 50,0002 +32 <12 1,800
504 282 6.516
2VIAZBHLLZ 67,781,008 x4.5% 3,051
2RIAYPELLZ 67,781,000 +2.82% 1,912
SR T
1,912,0002! %6 .55% 26
nf=3=E T 67,781,000+ 1.4% 949
T 67,781,000 %0.705% 478
204 MR B 65.280 65,280 0
02 =g x| 65,280 65,280 0
LT (4242) 400, 0002 * 12+ 122 4,800
SAXAD, DN sLHLAT(524E)
250, 00021 2% + 122 6.000
KIS AHBS &) 55,0002 +252 * 122 46,500
72 140, 0002+ 1% * 122 1,680
82 105, 0002 *4% * 122 5,040
pRIE 105,0002 *124+ 128 1,260
LT 121,214 23, 104 A1,890
Jl= 2| 121,214 123, 104 A1,890
201 2ere | 57,080 55,830 1,250
01 At 22lt] 57,080 55,830 1,250
SN2Y Jl2Lg 16,000
o &F 2y 32,220
o= 50,0002 «22 #1152 11,500
%% 20,720
YR S 8,860
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M sll=dH
Y HH2HAH (LI I=HE)(IIEH/IIEH
&2l Jl=&Hl (&9 HM
A -3 -H2A(SH) - HEAMY - BES Of] AF R gl/liafﬁ Hos
202 o4 34,194 35,634 A1,440
01 =2LHo Y| 34,194 35,634 1,440
2 S&Z 0 5,280
22 SEH Y| 28,914
203 ¥R =&l 13, 140 13,140 0
01 JI22FHRF&H| 3,300 3,300 0
B 3,300
02 FRItMPR=EHI 2,640 2,640 0
AN HRFHI 80,000 *33Y 2,640
04 FN2IHRFAHI 7,200 7,200 0
= X3 350,000 *12& 4,200
Olci=soHga 250,000 * 122 3,000
204 X R AH 12,000 12,000 0
01 MM HRHFH| 12,000 12,000 0
L2 (4S4Y) 400,000& *1H +12& 4,800
SAXNENE, DisLMLAFH(554E)
100,000 2 «12& 2,400
ANLFE(6S4Y) 50,000 x8F x12& 4,800
405 Xt&bE SHI 4,800 6,500 21,700
01 T =SS HSHI 4,800 6,500 21,700
QRE PC 1,600, 000& *3CH 4,800
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